3. Discuss the causes of drug abuse.
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4. Describe the stimulant drugs. DSPR_OZ
SF TEF TSI H e Hifw) December — Examination 2021

5. Explain the causes of drug abuse addiction. Diploma in Social Problems in
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6. Discuss the causes of social problems. E: LIS ED WT@:’ Td &@A : A4 gqﬁ-mf
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7. Explain the defects of caste system in Rajasthan. Paper : DSPR-02
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8. Write a note on Nata custom.
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given

9. Discuss the measures towards abolition of dowry instructions.
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Section-A 5%x4=20
(Very Short Answer Type Questions)

Note .— Answer any five questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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1. Give answers of the following questions :
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(1)

(ii)

(iii)

Define deviant behaviour.
AT AR 1 IR Hif |
Explain about Legendary bird.
X vaft & fowm # saEw)
Define Stimulant Drugs.
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(iv) Explain the objective of educational
upgrading.
Sieffores e 1 S2YF AR |

(v) Define Joint Family.
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(vi) What do you mean by marriage ?
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(vii) Explain the meaning of democracy.
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(viii) Define Divorce.

(ix)

(x)

Note —

order :-
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What is Nicotine ?
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What do you know about individual
problem ?
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Section-B 4%x20=80

(Short Answer Type Questions)

Answer any four questions. Each answer should
not exceed 200 words. Each question carries
20 marks.
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2. Explain the characteristics of deviance.
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